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20194 E* 20204 E* 20214 E 20224 &t (M)
A B & 23,340,000 0 23,340,000 23,320,000| 70,000,000
B HZE® - EM&® 0 0 0 5,830,000 5,830,000
&5t (A+B) 23,340,000 0 23,340,000 29,150,000 75,830,000
mEh=E (A/(A+B)%) 100.0% #DIV/0! 100.0% 80.0% 92.3%
*2019 FE 2175 BEE2NEEEAD BIREDOTIAWNIC DT, 2020 FENESHTITLWET,
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B A FLEINDIIGEICE. BEFEBICHFLET LHREEBRRORILE 22 B8R 2 BIRER & HET D
LTEMFLIET 0N,
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20194 & 20204 & 20214 E 20224 & &t (M)
JRT L AT A O 4,000,000 8,000,000 8,000,000 8,000,000 28,000,000
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% 2019 E 20204 20214 20224 FF &5 (M)

&N i xR 5.4% 1,167,000 = 1,167,000 1,457,500 3,791,500
ETEMEA 5.0% 991,950 - 991,950 991,950 2,975,850
&&t 2,158,950 0 2,158,950 2,449.450 6,767,350
4. BhEE DEET

20194 & 20204 & 20214 FE 20224 & &t (M)
A5t (A+C+D) 29,498,950 8,000,000 33,498,950 33,769,450 104,767,350
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20194 FE/Nat 0 -

20204F B/t 0 -

20214 FE/NEt 0 -

LEXEBIE 3,000,000

EM&&8A 2,830,000

20224 FE/Nat 5,830,000 -

aFt 5,830,000 -
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BRE3-3FEE (BRI3-10 A+B) D RAHH

(1) =% 0 H BB

20194 20204 & 2021 20226 & &5 ()
- EITHERA~ DS
A. BhR& R EE%E 19,840,000 0 19,840,000 19,830,000 59,510,000
S KRLENDER
EERNEE 3,500,000 0 3,500,000 3,490,000 10,490,000
ERORBOEES 15.0%|  #DIV/0! 15.0% 15.0% 15.0%
B.ECE® - F47H DBNFLE
A EsE FATRHE ORI 0 0 0 4,955,500 4,955,500
EWEs ICHRYENIER
EERRE 0 0 0 874,500 874,500
ERORBOEES #DIV/0! #DIV/0! #DIV/0! 15.0% 15.0%
ERRORFRAH 255 L. B HERE
IChY B EEBINRENIS%ABATHET #DIV/0!
DT, BEEMREZRBLTIZEN,
Q) RITAEA~NDBREICT LU SN EROEERIHE
20194 20204 & 2021 20226 A& ()
EITHAER~NDOKREFEICKELYINDER 19,840,000 0 19,840,000 24,785,500 64,465,500
EEBICHODEE 85.0%| #DIV/0! 85.0% 85.0% 85.0%
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KA 3. EeFtEE
FR3-4: EEARE DR

(1) EROREOEERME
20194 20204 20214 20224 &3 (M)
EEAEE 3,500,000 0 3,500,000 4,364,500 11,364,500
(QEBEEMREDAR
= o FHARM GHERICL YAV BEIEEREBHERIC L TEEW)
EE EME) [ x] & [ B Jx] B | B [=] it ] EHIRYL
LS EIRE 20,000|EPmIE (&) 40 X 5,000 Eid 0.0 [l = BAFE
5E REFI> 10,000 X 1 = X 2 Bl = 20,000
Ei7 160,000 | &y~ £5H 100,000 X 1 = X 0 ml = BRER
FILTHAUERE 10,000 X 1 = X 2 =] 20,000
webT Y (U RFEHR 60,000 X 1 = X 2 [l = 120,000
webZE #73E 10,000 X 1 = X 2 A = 20,000
HIERE 72,000| =HAMR 2,000 X 2 i X 18 A = 72,000
A 1,5630,000| =585 170,000 X 0.5 A X 18 A = 1530000 EEEEE
He 240,000|FF=8 30,000 X 4 A X 2 Bl = 240,000
KRB 108,000 (=#%mraitE 3,000 X 2 L X 18 A 108,000
HERATAEE 1,500 X 2 i X 0 A =
BEERE 315,000 | & xiEpx s 360 X 100 A X 2 Bl = 72,000
EEE. web 5,000 X 2 L X 18 A = 180,000
ExE 500 X 7 il X 18 =] = 63,000
SEE 188,000 (&5 @Hit) 5000 X 7 L X 2 [l = 70,000
FHFHERE 5000 X 7 i X 2 B 70,000
ARV RS 20,000 X 1 i X 2 =] = 40,000
FHEMERL 4,000 X 1 i X 2 =] = 8,000
REXBE 850,000 |zl HH57~Rit) 5000 X 7 il X 18 =] = 630,000
ZimE (GRERE) 30,000 X 1 i X 2 Bl 60,000
XEF-LBHE 10,000 X 7 L X 2 [l = 140,000
fERE 10,000 X 1 i X 2 =] = 20,000
e 17,000 | & & E 5500 X 1 [l X 2 [l = 11,000
ENHESE 3,000 X 1 = X 2 Bl = 6,000
20194 BE/at 3,500,000
LhESEE ENRE (BE) 40 X 5,000 G X 0.0 [l LUF, 2019FEH @& ICEHE
5E REFI> 10,000 X 1 = X 0 [a] =
ZitH BEBTF(OERR 100,000 X 1 ES X 0 ] -
FILTHAUERE 10,000 X 1 = X 0 ]
webT P AU EEE 60,000 X 1 = X 0 [a] =
webE #73E 10,000 X 1 = X 0 A =
SHERE EBEAR 2,000 X 2 i X 0 A =
ANFEE EBERS 170,000 X 1 A X 0 A =
Eika EHES 30,000 X 4 A X 0 (] =
INEE 3,000 X 2 il X 0
1,500 X 2 i X 0 A =
B E R AHERE 360 X 100 A X 0 [a] =
EEE. web 5,000 X 2 L X 0 A =
EixE 500 X 7 il X 0 = =
REE S5 HE) 5000 X 7 Caii X 0 =] =
FHFHERE 5000 X 7 i X 0 =]
ARV 20,000 X 1 il X 0 5]
FHEMERL 4,000 X 1 i X 0 =] =
REEE ZEE FHF~3%H) 5,000 X 7 Ui X 0 =] =
ZimE (GRERE) 30,000 X 1 i X 0 =]
XEF-LBHE 10,000 X 7 L X 0 =]
fERE 10,000 X 1 il X 0 & =
e HEGHE 5500 X 1 [&] X 0 =] =
ENHESE 3,000 X 1 = X 0 =] =
20204E E/NE 0
LhESEE 60,000 |EPRIE (HE) 40 X 5,000 G X 0.0 [l FBARFE
5E REFI> 20,000 X 1 = X 3 Bl = 60,000
Ei7 130,000 | s &y~ £5H 100,000 X 1 = X 0 ml = BRER
FILTHAUERE 10,000 X 1 = X 1 =] 10,000
webT P AU ETE 60,000 X 1 = X 0 [a] =
webE #73E 10,000 X 1 = X 12 A 120,000




HIERE 48,000 (=HAR 2,000 X 2 i X 12 A 48,000
NS 2,040,000| %85 170,000 X 1 A X 12 A 2,040,000 EHEsEENE:
He 120,000(¥F=& 30,000 X 4 A X 1 Bl 120,000
IR 108,000 |=HF&EE 3,000 X 2 Ui X 12 A 72,000
HERATAEE 1,500 X 2 i X 12 A 36,000
BEERE 312,000| & #Epk & 360 X 300 A X 1 Bl 108,000
EEE. web 5000 X 2 L X 12 A 120,000
ERE 1,000 X 7 i X 12 =] 84,000
SEE 138,000 (=153t (Hi) 5000 X 7 Uil X 1 ] 35,000
EHEFHERS 5000 X 7 BT X 1 =] 35,000
ARUbR1G 20,000 X 1 il X 1 =] 20,000
FHEMER 4,000 X 1 i X 12 =] 48,000
KREBE 530,000 |seE# H5~ %) 5,000 X 7 il X 12 [5] 420,000
ZimE (GRERE) 30,000 X 1 i X 1 Bl 30,000
YEF-LBHE 10,000 X 7 L X 1 [l 70,000
fERE 10,000 X 1 il X 1 =] 10,000
ME 14,000 (& &2 5500 X 2 =] X 1 =] 11,000
ENHESE 3,000 X 1 = X 1 Bl 3,000
20214 B/ 3,500,000
LEERE 260,000 |ENfIZ (%) 40 X 5,000 S X 1.0 =] 200,000
BE REFZ> 20,000 X 1 = X g Bl 60,000
ZEE 190,000 (#&&Tv/~RER 100,000 X 1 = X 1 Bl 100,000
FILTHAUERE 10,000 X 1 = X 0 =]
webTH 1 EREH 60,000 X 1 = X 0 =]
webE #73E 10,000 X 1 = X 9 A 90,000
HIERE 36,000| =HAM 2,000 X 2 i X 9 A 36,000
UNGE - 2,652,000\ =% B 5 170,000 X 13 A X 12 A 2,652,000 EHEEEENE:
He 120,000(¥F=& 30,000 X 4 A X 1 Bl 120,000
IR 81,000|EHmEiLE 3,000 X 2 il X 9 A 54,000
HERATAEE 1,500 X 2 i X 9 A 27,000
BEERE 492,000 | A EEE 360 X 500 A X 2 Bl 360,000
EEE. web 5000 X 2 L X 9 A 90,000
EixE 1,000 X 7 il X 6 =] 42,000
ey -4 102,000 (&5 @) 5000 X 7 L X 1 [l 35,000
EHEFHERS 5000 X 7 BT X 1 =] 35,000
ARV 20,000 X 1 il X 1 =] 20,000
FHEMERL 4,000 X 1 i X e =] 12,000
RERE 415,000 |seilize #55 ~51%4) 5,000 X 7 il X 9 [&] 315,000
ZimE (GRERE) 30,000 X 1 i X 1 Bl 30,000
XEF-LBHE 10,000 X 7 L X 1 [l 70,000
fERE 10,000 X 1 il X 0 =]
ME 16,500 | & &1 5500 X 3 =] X 1 A 16,500
ENHESE 3,000 X 1 = X 0 Bl
20224 FE /NG 4,364,500
&t 11,364,500
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BRA3-5: C(K=3-1) DX AR

1) 7875 4L - 7 4 $—0EEOEHR OFERBE

20194E 20204EF 202146 20224E &it (M)
7O55 4 F7 4 —ORETEOEDHE 4,000,000 8,000,000 8,000,000 8,000,000 28,000,000
355707540 74— DAER 2,460,000 4,920,000 4,920,000 3,690,000 15,990,000
5 5 Z DO EDHE 1,540,000 3,080,000 3,080,000 4,310,000 12,010,000

Q) 7RIS L - F 74— OEETEOEEHNEOAR

BHEHN GIERICLY AL WBEIEBEERRERICL TS

RE 24 - —
EE [#mm [x] ® [ =#@ [x] @ gt =] adt | ’%
AR
2,460,000 | 702 5 L4 7 4 H#— 170,000 X 6 A X 1 A = 1,020,000
PO#tE (HH3RAT) 120,000 X 6 A X 2 i = 1,440,000
Z D DSESHE
=EE 77,000 | &35S 5,000 X 7 i X 1 [8] = 35,000
TEBIFAR 2,000 X 7 i X 3 [ = 42,000
=B 500,000 > /2 +EHERHE 100,000 X 2 i X 1 [ = 200,000
HARATE 50,000 X 2 il X 3 A = 300,000
e 410,000 |=M=E 100,000 X 2 i X 1 (8] = 200,000
BIFHE LT 30,000 X 7 i X 1 [ = 210,000
REE (RIS 245,000 | FAsaREE RHER 45 X 5000 Ei X 1 [a] 225,000
THAVE 20,000 X 1 = X 1 = = 20,000
EE 308,000 | PO ##7 5,000 X 7 il X 6 A = 210,000
HBEEHE 10,000 X 2 i X 1 [ 20,000
HETE R 9,000 X 2 i X 1 [8] = 18,000
Bt HRE B E 5,000 X 2 i X 6 A = 60,000
20194 /NEH 4,000,000
AR
4,920,000 (7025 £4 7 14— 170,000 X 12 A X 1 A = 2,040,000
PO#tE (HH3RAT) 120,000 X 12 A X 2 i = 2,880,000
Z DA DSESHE
- 455,000 | % HuiziFHE 5,000 X 7 i X 1 [8] = 35,000
TEBIFAR 5,000 X 7 i X 12 [ = 420,000
=B 1,600,000 |1 >/ +EHERHE 100,000 X 2 ain X 2 [=] = 400,000
HARATE 50,000 X 2 il X 12 A = 1,200,000
e 410,000 |=MzE 100,000 X 2 i X 1 [8] = 200,000
BIFHE LT 30,000 X 7 i X 1 [ = 210,000
REE (RIS 19,000 (FAtARERHER 45 X 0 i X 0 [=]
THAVE 19,000 X 1 = X 1 = = 19,000
EE 596,000 | PO 5 5,000 X 7 il X 12 A 420,000
HEEHE 10,000 X 2 i X 1 [ 20,000
HETE R 9,000 X 2 i X 2 [8] = 36,000
B RSB E 5,000 X 2 ain X 12 A = 120,000
20204 /N5 8,000,000
AR
4,920,000 (7025 £4 7 14— 170,000 X 12 A X 1 A = 2,040,000
PO#tE (HH3RAT) 120,000 X 12 A X 2 ain = 2,880,000
Z DA DSESHE
- 455,000 | % HuiziFE 5,000 X 7 i X 1 [8] = 35,000
TEBIFAR 5,000 X 7 i X 12 [ = 420,000
=B 1,600,000 |1 /¢ +EHERHE 100,000 X 2 ain X 2 [=] [ 400,000
HARATE 50,000 X 2 il X 12 A A 1,200,000
e 410,000 |=M=E 100,000 X 2 i X 1 [8] 200,000
BIFHE LT 30,000 X 7 i X 1 [ 210,000
REE (RIS 19,000 (FAtARERHER 45 X 0 i X 0 [=]
THAVE 19,000 1 = 1 = 19,000
EE 596,000 | PO 8 5,000 X 7 il X 12 A = 420,000
HEEHE 10,000 X 2 i X 1 [ = 20,000
HETE R 9,000 X 2 i X 2 [8] = 36,000
Bt RSB E 5,000 X 2 i X 12 A = 120,000
| 2021 Avat 8,000,000
AR
3,690,000 7025 L4 7 14— 170,000 X 9 A X 1 A = 1,530,000
PO#tE (HH3RAT) 120,000 X 9 A X 2 ain = 2,160,000

Z DA DSESHE




=I5 350,000 | o 5000 X 7 i X 1 [=] 35,000
EBIFHM 5000 X 7 Caiii X 9 [8] 315,000
=18 1,300,000 > /37 b FF{EHHE 100,000 X 2 il X 2 1} 400,000
HARATE 50,000 X 2 i X 9 [8] 900,000
HE 610,000 |98 100,000 X 2 i X 2 [8] 400,000
FHFFHERED 30,000 X 7 il X 1 1} 210,000
LEE (FRIS 1,589,000 | & & FRLE 200,000 X 7 il X 1 1} 1,400,000
REBEDRIE 27,000 X 7 i X 1 [=] 189,000
EE 461,000 | PO E 5000 X 7 i X 9 A 315,000
EEizezd 10,000 X 2 il X 1 1} 20,000
W AR 9,000 X 2 i X 2 [8] 36,000
R RS BENE 5000 X 2 vl X 9 A 90,000
20224 FE/NEL 8,000,000
AROEE 15,990,000
2D 0ESR
e 12,010,000
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KA 3. EeFtEE

R 3-6: DR 3-1) 0 X

(1) gL/ BEHEOHMEERE
20194 20204 B 20214 20224 B (M)
BEHEIEOTERERE 1,167,000 0 1,167,000 1,457,500 3,791,500
PR AR S HHA 5.0% #DIV/0! 5.0% 6.3% 5.4%
(2) B2HBEHFOFHIBEEREDORR
e o EHRE GIERIC L Y A=V BB IBE B ikl LT <2 a0
o EH HmE) x| B | wm x| # B =] A | L
E£EE FRET K5 A H— 600,000 X 1 A X 1.5 = 900,000
S 56,000 (=55 4,000 X 7 i X 2 =] = 56,000
REXBE 180,000(7 K754 ¥ —B8E 15,000 X 1 A X 2 Bl = 30,000
BLBHE @A) 20,000 X 2 A X 2 =] 80,000
BLBHE (RK) 5000 X 1 A X 14 & = 70,000
T4 N BEE 1,000 X 15 B X 0 =] =
BIE ERE 18,400| 7 > — b EB%E 92 X 200 A X 1 i 18,400
MEE 12,600| EHIEEA 6,300 X 1 =% X 2 =] 12,600
20197 /At 1,167,000
EEE FRET K5 A H— 600,000 X 1 A X 0 F = LUF, 2019FESRBICEHE
By 258 4,000 X 7 Ul X 0 =] =
B R T RS A Y —BEE 15,000 X 1 A X 0 =]
BLBHE () 20,000 X 2 A X 0 =]
BLBHE (RA) 5,000 X 1 A X 0 =]
TS FEEBE 1,000 X 15 =] X 0 =]
IS ERE T — b ERRE 92 X 200 A X 0 i
MEE BRI 0 X 1 = X 0 =
20204 B/ 0
5B 600,000 | FFfE 7 K /¥4 H— 600,000 X 1 A X 1 F = 600,000
By 280,000| =& 20,000 X 7 i X 2 =] = 280,000
REXBE 250,000|7 ks34 ¥ —B8H&E 15,000 X 1 A X 2 Bl 30,000
BLBHE @A) 20,000 X 2 A X 2 =] 80,000
BLBHE (RKN) 5000 X 2 A X 14 =] 140,000
TS A N BEE 1,000 X 15 =] X 0 =]
BIEERE 27,600|7 >4 — HEBRE 92 X 300 A X 1 i 27,600
MEE 9,400 | &ERIEEA 9,400 X 1 =% X 1 =% 9,400
20214 /)t 1,167,000
NG 840,000 |FAET L/ 4 b 7,000 X 2 A X 60 =] = 840,000
5B 300,000 | FFfE T K734 H— 600,000 X 1 A X 05 F = 300,000
By 105,000 &45& 15,000 X 7 i X 1 =] = 105,000
REXBE 185,000(7 K/sA ¥ —B8E 15,000 X 1 A X 1 Bl 15,000
BLBHE @A) 20,000 X 1 A X 1 =] 20,000
BLBHE (RKN) 5000 X 1 A X 6 =] 30,000
TS A N BEE 1,000 X 2 A X 60 =] 120,000
BIEERE 23,000(7 > — hEB%E 92 X 250 A X 1 i 23,000
MEE 4,500 | EREEA 4500 X 1 = X 1 =% 4,500

20224 E/)\E 1,457,500




HE | 3,791,500
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